
MTH70	Reflection	#3	–	NO	CALCULATOR	 	 B.	Steinhurst	

On	the	other	side	of	this	page	are	some	problems	from	the	homework	topics.		
	
Before	looking	at	the	problems,	I	think	I…	
	
	 	

	

	

	

	

	
Know	this	
material	well	

	 Sort	of	
know	some	

	 Do	not	know	
this	material	

	
	
	
	
After	attempting	the	problems,	I	think	I…	
	
	

	

	

	

	

	
Did	well	 	 Did	sort	of	okay		

but	not	great	
	 Did	poorly	

	
	
	
	
After	comparing	the	solutions	to	my	work,	I	think	I…	
	
	

	

	

	

	

	
Did	well	 	 Did	sort	of	okay		

but	not	great	
	 Did	poorly	

	
	
Did	your	performance	match	your	expectations?	Is	there	something	you	might	do	
differently?	
	
	
	
	
	
	
	
	
Sign	below	if	you	do	not	wish	to	have	your	results	included	in	the	research.	(You	will	still	have	to	do	the	
activity	for	your	participation	grade	in	the	class	even	if	you	sign.)	
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Your name: _________________________________ 
1. State the slope and y-intercept of the linear 

function. Then graph the linear function: 
𝑓 𝑥 = − !

!
𝑥 + 6 

2. Write the equation of the linear function, f, that 
passes through the points (1,3) and (2,4). 

 

 

Evaluate	your	errors	below	

Slope: 
 
y-intercept: 
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'
__________________________ is ready to show what they know! 
     (Your name here) 
 
You have two hours and twenty minutes to complete this entire exam (that’s 
140 minutes for the whole thing, including both parts). You may NOT use 
your calculator or any other electronic device or resources on this portion 
of the exam. If you need additional scratch paper, please ask your instructor 
or proctor. Answers without supporting work may be counted wrong. 
 
To get your calculator back for use on the other portion of this test, finish 
this portion and hand it in to your instructor or proctor. 
 
1. (5 points) Let ! ! = ! − 2 . Complete the table and graph ! = !(!) in the 

space below.' 

Math 95 Exam 2

4. Let k(x) = |x� 2|. Complete Table 1 and and graph y = k(x) in Figure 1.

Table 1

x k(x) = |x� 2|

-1

0

1

2

3

4

5

Figure 1. Graph of y = k(x)

[6 points]

5. Use Figure 2 to answer the following. List all solutions using either set-builder or interval

notation.

a. Find g(0).

b. Solve g(x) = 4.

c. Solve g(x) > 6.

d. Solve g(x)  0.

Figure 2. Graph of y = g(x)
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[12 points]
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